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IICI'1, CSI,l. EIIi, IT. fr{CT, EI'}I. lli\l'l', AI:1, }lIir. I''ftrI, CEIa,
}ISNT)

-l'inrc:3 
houl's Iler. i\'lrtrlis:75

}otc: l'ltis c1Ltr,'siitrl P;rPq; .! irtlr ir. i\\,, jrli'ls i\ artd B.

Pari,'\ is conrpttlstrr'_r rilrich carries 25 nrarlis. r\nsuer all (lLlestiolrs in Part A.
Part B consists o1'-i Llnits. .\nsu'el'an\ onc tir ll question il'onr eaclr r-rnit. Laclr
rlricstion carrics l0 nrarlis antl nrir\ hare a. b. c as sLtb (lLle5tir)ns.

I'A lil - -\
125 l{:rri;s)

1.li) I-ol tirc dcnsrtl' l'Llncti()ir /(-r) :6r(i- r).0 < r < I " r'-incl tlre rnean. t2]
b) Ii'-the nrean ol-tlre binonrirLl ciistribLrtion is J uncl variarrcc is I then ilnd P. l-f l

c) Slate centrui iinrit tlrcorenr. 12]
d) l.he rariance o1'a popLr Iation is L llrc size oi'lhe sarnple collectecl 1'l'orn the poltulation is

1 69. Irind the stancl;rrcl crror- ol'nrca:t. I3]
r\ r: 

^ 
tr  t rC) lJr'llllCr1.\Li\.\. L-t

1l \\irite aboLrt Lvlle-l errol ancl Lr pc-ll errol'. I3l
g) Irind Lrro l)oints bctu,eerr u'hiclr the root ol .r-cosr-0lies. I2l
h) if r':l.li5 is tirr bcst ilt l,r1'tr prrirs olvalrres (.r. l,) bl'thc nrcthoci oilcast sqirares. lind

I r il'I ,, - 120 Lil

it \\ ritc tlrL ti,r'lr)Llla to e\tluill( i 'ir r,lr hr Srrrrlt.orr': I .l lLr Ie . l: j

.i,) Usinrr iricarci's nrcllrrtcl. i-incl .r ( t) lor' 
* = t-.t:. .r (()).- I upto secor.icl apllr(l\inration.

l3l

t) { I)_I- I)I _1i\ l _l)

(50 \larl;s)

2.ti.l Irronr u lot o1'l() itcnr-i eoriairririg -l clelcctires. a sarrplc of'J itenrs is cl rurln rrt t'ltJolll.
l,et the rand(lnr rariable,\'denote the rrrrnrbcr ol'clelectii,c itcrls in the sanrple. Irinc] tlte
probabilitv cl istribr-rtion ol',Yrr Ireu tlre sanrple is clrau rr rlitlroLrt rcplacenrent.

b.i 'l lrc nrean ancl r ariance o1' a binonrial tl isLriLrLrtion arc :1 ancl -1,'j respccti\'el_\.

I5' -i l
lirr'l/ \' ii 

()*.
La) I he lrrobabilitv cicnsit-r 1'Lrnciion /(,r1 ol a colrtinLroLls ranclor.n r arjable is

r,ti-r 0<.-<l
/'ri )- Finci tire ialuc o1'/i uncl thc prrrbabiiitl that tlre randorr rar.iable

'1 'tllt. t.tt.t.'.

talics on a valLre bctuecn lr'l and i,1.1.

b) Iir a sanrple of 1000 cases, tlre nrean of a cerlain test is l-l and stitnclarcl deviatiorr is 2.-i

assunrirrg thc distr:ibLrtion to be nor:nral, Find hor.r,rranl, stLldents score betu,een 12 ancl

15. 15 .-l

M
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J.rr) Dclirrc t-.li:tril.rLrtiolr lrn(l \\ r'ite its propertics.
b) A ranclonr sanrplc of 500 points on a heateci plate resrr Itecl in an a\ e rase telnlleratlrre of'

7-i.i--l clegre'es lrrllrrenhcit u ith a stanclard der iation ol'1.79 ilcgrccs Irahrenhcit Irincl ir
999,| ctrrilclcncc intcrval lbr the a\ e rage te nrllcratLlre ol'the piutc. [-i'-i]

0l{
5 a) Sanrplcs olsize 2 are col'lected fronr a saurple oIsize 5 ri'ithoLtt rcplaccmcnt.

i) \\'rite the sarnplcs olsizc 2 ii) Find the nrcari o1'sarrpling clistribLrtion il1''nreans.

iii) Ihc stancler'.1 cleviation o1'sunrpling clistlibtrtion of nreens.

b) \\'hut i: tltc' size o1'snrallcst sarrltle rcclrrirecl to estirnate 111'1 1111'n1iti n proltortitrrt to ri it]rin
a rnatir.trrrnt error o1'0.0(i rr itlr atlcast f -i9i, citnllclcncc. l-i .jl 

i

6.a) ;\ die uas throri,rr 9000 tirnes and of these 3220 y,ieltieci :i 3 or "1. Js this consistent rt'ith
tlt.' Irr |,.,tlrcsis tltlt tlre,lic rrlr.'.rttbirts,.',1.

b; \\,'iilii i: ilciiil'. b1 ie',ci cri'sigrriilcrincc. i)ilc iliiieci iiirii i\\(i iriiliri i.':.ii.' i,;-tj
ot{

1 -i-ltr' lirllori inl tlble gircs tlrc irLrnr[rer ol'reirigetitors soltl br -1 salesnran o1'l-.C lnclia

{-Lti .. in th'cc nroirths

Is thcrc l signilicant cl illcrence in thi'srrlr's rnaclc Lrl tlrc lbttr sllesnten'l lr0l

8 a) Using Netl'orr-Ralthson n.ietlrocl. flud a positirc reitl root o1'rz' -2-0 con'cct to lbLrr

rle;imll plrr;u'.

b) Fit a least sqLlare parabola .\:- u + lrr'+ r-'-r 
t to the lbllorving data. l5,t-51

oit
9. Solve the systern of equations 8-t+.)'+::3. lr+1)'+z:4. r+3-1'+32=5 by GaLrss

seidal rnethod. ! 01

,.lt'10. UsingTa1'lor'sset-ies nreihod-firrcl-i'(0.l)and-r'(t).2) I'or;: t- --r'. l'(0)=1 t10]
r1_r

oOR

I 1. Usinr Ri-irige-liutta niethod of or-der 4. flnd .t,(2.5) for 'i,t = 
t* -t . r (l):2 tal<ing

ar .Y

It :0.25. 
[1 0]
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N,lonth A ts C D

N,jar 50 .10 .13 39

.l lt i're 46 zi8 50 4_i

.lr-rIv 39 44 40 i9

.r 1 t) I 2

I -2 l ) 4
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